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No Point [Runk
12 |14 88.6 2
5 150 97.7 1 No Point [Runk
50 119.6 2
No Point [Runk 39 128.3 1
13 |22 995 2
4 |39 1285 1
No Point [Runk
10 |41 WSC 108.6 2
718 132.6 1 No Point [Runk
8 116.8 2
No Point [Runk 37 118.0 1
15 | 38 109.5 2 No Point [Runk
2 |37 143.2 1 37 1398 1
45 1395 2
No Point [Runk 32 1214 3
11 | 25 108.1 1 39 1168 4
6 (24 104.5 2 No Point [Runk
25 79.0 2
No Point [Runk 45 121.7 1
14 |30 98.1 2
3 |45 130.4 1
No Point [Runk
9 |43 102.6 2
8 |42 114.0 1 No Point [Runk
42 73.6 2
No Point [Runk 32 113.1 1
16 | 29 NTT 114.0 2
1132 1324 1




